[EnY
<
=
<

g Ol
= g I
s e I
5 o]
102
.9105%_....!....!....!....!....!.... .9105%_....!....!....!....!....!....
g [ s [
[vd C [vd C
1_— ---------------- B R 1_— ---------------- 2 E R
OA95- H i " " H OA95- H i " " H
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO
—— DQM_V0001_R000000001__Global__mkFit100Time__RECO
= £
2 e
F 3
o 107 S
° 1071

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

=

o p/p.)

B DU TV | TR U T

2322 -1 0 T 2 3
TP n (PCA to beamline)



	Contents
	Page 1


